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COMPASS

The COMPASS Spectrometer in 2002

GEM& MWPC

Trigger Hodoscopes

SM2

beam

ECal & HCal

SM1

Straws

Target

RICH

Scifi

MWPC

MicroMegas

Drift chamber

• µ: P ≈ 80 %, E = 160 GeV

• D0 mass resolution 15 MeV

• Particle ID up to 60 GeV/c

• Rich fully equipped

• Full ∆G trigger available



COMPASS

The Polarized 6LiD Target
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• Preliminary polarisation values: Pmax = 55 %.

• Spin relaxation times:

– Longitudinal spin (2.5T field): too long to be measu-
red

– Transverse spin (0.5T field): 2000 hours
⇒ transversity, g2.
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